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DIPLOMA IN EARLY CHILDHOOD 
CARE AND EDUCATION 

Term-End Examination 

June, 2011 

DECE-3 : SERVICES AND PROGRAMMES 
FOR CHILDREN 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer any five questions. All questions carry equal 

marks. 

1. (a) "It is necessary to have ECCE programmes 10 

and these should be holistic in nature" Do 

you agree with this statement ? Substantiate 

your answer with reference to the situation 

in India. 

(b) Your have read about the basic ideas of 

various educationanists Describe any five 

ideas which are relevant in the context of 

pre school education today. Name each 

educationist which idea you have identified. 
5x2=10 

2. (a) Describe any five parental attitudes that can 10 

hinder the development of the child with 

disability. 
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(b) State five ways/activities through which 1 

the care giver, early childhood educator can 

help the one year child with visual 

impairment to became independent in 

moving around once a period of time. 

3. (a) Explain the term "cerebral palsy' and 	1C 

describe how the various areas of 

development may be affected when the 

child has cerebral palsy. 

	

(b) The parents of a two - year - old child with 	10 

moderate hearing loss have come to you for 

advice regarding what they should do to 

foster the language development of the 

child ? State in detail the advice that you 

would give them, providing reasons for the 

same. 

4. Suppose you are a pre school educator in 

an ECCE centre in an urban area. You have 

been asked to create awareness in the local 

community about the importance of play 

way method for pre school education 

instead of focus on formal reading writing 

and arithmetic. 

	

(a) State the specific message that you will 	5 

foromulate to communicate. This theme. 

List the factors that you kept in mind while 

formulating this message. 
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(b) Who will be the receiver/audience to whom 
	

5 
you will communicate this message ? Give 
reasons for your choice 

(c) What strategy of communication will you 	5 
use to spread this message ? Give reasons 
for your choice. 

(d) What method of communication will you 	5 
use ? Give reasons for your choice. 

	

5. 	(a) Describe any six principles you will keep in 12 
mind when working with a child with 
mental retardation. Give the reasoning 
behind the principles. 

(b) State, in detail, what the parents / 
caregivers of a 5 - year - old child with 
mental retardation should do to : 	4+4=8 
(i) Promote the child's language 

development 
(ii) Help the child develop the ability to 

dress / undress 

	

6. 	(a) What is the role of the education in the child 10 
care centre when there is a child with a 
disability in her group of children ? 

(b) What are the advantages and 10 
disadvantages of labelling children with 
disability ? 

	

7. 	Write about any two of the following in about 
350 - 400 words each : 	 10+10=20 
(a) Types and causes of physical disabilities 
(b) Community based rehabilitation of children 

with disabilities. 
(c) Meaning features and importance of 

planning. 
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